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QID : 201 - In the following question, select the related word from the given alternatives.

Tailor : Needle : : Woodcutter : ?

frafafaa wea #f faw v fwedt 7 3 wafta wee = g

ot : g ¢ AHIERT 1 2
Options:

1) Sword

GCCItS

2) Chisel

iz

3) Axe

FeErd

4) Plough

o

Correct Answer: Axe
Fegrdl

Candidate Answer: Axe
ETE

a

QID : 202 - In the following question, select the related word from the given alternatives.
Scissors : Cloth : : Axe : ?

famafafaa v # R v faeedt 4 9 wafta weg # I

&t wEn: :ﬁ‘rﬁ: ?
Options:

1) Stone

g

2) Wood

Gaill

3) Hunt

i

4) Vegetables

wfesrat

Correct Answer: Wood
GEE]

Candidate Answer: Wood
T

QID : 203 - In the following question, select the related letters from the given alternatives.
PQRS: QSUW : : ABCD : ?

eafaflm wa 3 R v fasent # & wafta werd # gl
PQRS: QSUW : : ABCD : 7

Options:

1) BCDE

2) BDHF

3) BDGI

4) BDFH
Correct Answer: BDFH
Candidate Answer: BCDE
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QID : 204 - In the following question, select the related letters from the given altematives.

REKM : UHNP : : PKDL: ?
Ferefedti m & R A fredt # & wefie sent #r giw)

REKM : UHNP : : PKDL : ?

Options:
1) SNGO

2) SGNO
3) SNOG

4) MHAG
Correct Anawer: SNGO
Candidate Angwer: [ NOT ANSWERED ]

QID : 205 - In the following quastian, select the related number from the given alternatives.
5:26::8:7
Feriafta mF A R e Rt # F wE sew F g

5:36::8:7
Options:

1) 63

2) 64

3)65

472

Correct Answer: 65
Candidata Answet: 65

QID : 206 - In the following question, select the related number from the given altematives,
5:115::11:7?
Torraffia weer 3% R iw Rt # 9 wafta sear =1 gf)

Sr125::11:2
Options:
1) 1231

2) 1331
3) 1441

4) 1551
Correct Answer: 1331
Candidate Answer: 1331

QID : 207 - In the following question, select the odd word from the given alternatives.

frfifie wear A R are Feedt # A B veg # gfbe
Opticns:

1) Almonds

g

#) Cashewnut

Wt

3) Walnut

IR

4 Potatn

M

Correct Angwer: Potato
oLt

Candidate Answer: Patato
e

LY

QID : 208 - In the following question, select the odd word palr from the given alternatives.

FrTaTas W 3 E 7 fekedT & & R e I3 & Tl
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Options:
1) Time : Seconds
Ay 4503
2) Speed : Km/fhr
i by ey
3) Electric Current : Ampere
ey warg : AfPaay
4) Ternperaturs ; Kekvin
A  Rivae
Correct Anawer: Speed : Kmjhr
aifer : R e
Candidate Answer: Temperature : Kelvin
A9AE ; ®fcad

QID : 209 - In the following question, select the odd letters from the given alternatives.

fr=fAilm w3 R v feredt # 3 Rt sast 2 giom

Optigns:

1) BDGK

2) XZCG

3 TvYB

4) NPSW

Cotrect Anawetr: TVYB
Candidate Answer: TVYE

QID : 210 - In the following question, select the odd letters from the given alternatives.

Frrafeia W & fu o fasedt & & fyaw st & giAm

Options:
1)RS

2w
3)CD

LTV
Cohrect Answer: TV
Candidate Answer: TV

QID : 211 - In the following question, select the odd number from the given altematives.

Farnfafles e & Be wc frsedt # A v wear = gfe

Options:
1) 347

23124
=Y

4) 479
Correct Answer: 732
Candidate Answer: 347

QID : 212 - In the following question, select the odd number pair from the given zlternatives.

Frrtafn me 7 e o et & @ fawm v 7o wrgfam)

Opticns:
1)41-43

2)61-67
H7L-73

4)83-97
Correct Angwer: 83 - 97
Candidate Angwer: 41 - 43
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QID : 213 - Arrange the given wonds in the sequence in which they occur in the dictionary.

1. Brain
2 Brand
3. Beep
4. Boxer
5. Boxed

FrofiTes el 1 aeeeprel & AT AT % 3w o)

1. Brain

2. Brand
5. Beep

4. Boxer
5. Boxed
Options:
1) 35412
145312
3) 34512
43 43512

Corract Angwer: 35412
Candidate Answer: 34512

QID : 214 - Arrange the given wonds in the sequence in which they occur in the dictionary.

1. Wrong
2. Write
2. West
4. Wind
5. Walk

FaraffTies et ) wrezrel 3 A1 AT B F (e fad)

1. Wrong
2. Write
3. West
4. Wind
5. Walk

Options:
1) 53412

2) 53421
3) 43512

43 54312
Correct Angwer: 53421
Candidate Answer: 53421

QID : 218 - A seties s given with ane term missing. Select the comect alternative from the given gnes that will complete the seties.
ADGD)?

wF FAFA R o f, B @ v 5 g i R e Rt & & a7 vl e g, 3 seEs wram st

ADGI"7?

Options:

N

20

nM

L
Correct Answer: M
Candidate Answer: M

QID : 216 - A series (5 given vith one term missing. Select the comect alternative from the given cnes that will complete the series.
AB10, DF101, 61290, ?
= g T I ¢, B & vF v g 1 R aw Reet & 3 o v e 9w, Sroammm srg e

AB10, DF101, 61190, ?
Options:

1) DESD

2) 580

3) WNG77

43 M358

Correct Angwer: INS77
candidate Answet: [ NOT ANSWERED ]

4159


http://www.sarkariofficer.com

.gradeup.co
WWw.g up ﬁgrada i

01/0842017 Staff Selection Commision

QID : X17 - In the following question, select the missing number from the given series.
1,4,13, 40,121, ?
Fer=fafls e # fw a1v Reredt # A 0 i e S

1, 4,13, 40,121, 7
Options:

1) 264

2) 286

3) 364

4) 396
Correct Answer: 364
Candidate Answer: 364

QID : 218 - In the following question, select the missing number from the given series.
84,42, 44, 22,24, 12,7
il ma # i v Beedt # 2 7o 3 are Bifcm)

84,42, 44,22, 24,12, 7
Options:
1) 20

2) 14
3) 24

q)28
Correct Answer: 14
Candidate Answer: 14

QID : 219 - Amit's present age is 5/4 of his age at ime of his sister’s marriage. If his sister’s marriage happened 5 years ago and his father's age was twice of
Amit's age at that time, then what is his father's present age {in years)?

M i e g TR T B TR B A A 574 ¥ At STl ag B o 5 o6 e g o o 3w e frar s aifia i amg #r S o,
o Fw far H e g (o ) F=arg?

Options:
1) 55

2145
350

440
Correct Answaer: 45
Candidate Answer: 55

QID : 22 - Six games are kept one on top of the other. Ung is just above Snakes & Ladders. The Monopaly is betwean Ludo and Chess. Carom is between Una
and Ludo. Which game is between the Carmomn and Manopaly games?

T Teil Y T & T O 11 1§ FA, A & Srm o ) ArAreten, sl wan trm & At 3| dA, A oo & Ava §)| o o At & wvg shear
T F?

Options:

1juno

EZi)

2) Chess

UTF

3) Carrom

H

4) Ludo

Eel

Correct Answer: Ludo
bl

-~

Candidate Answer: Chess
Lore

QID : 221 - Presert age of a father is 3 imes that of his son. After 10 years the sons age will be 5 times of Raman's present age. If Raman celebrated his third
birthday 2 years ago, then what is the present age {in years) of father?

o Ryt i athaw HRg 3 1 A7 e Aer §1 10 wa g A 3R, W A St s S o gt ol e A avaar e SeRies 2 ad v wany, o Rrer dy
FeraTe vy (=l ) ward?
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Options:
1)145
2) 90
336
4)39

Cotrect Angwer: 45
Candidate Answer: 35

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.

Precipitation

Fnafaftis Rreredt 4 & ag v=g it o e Te e & s & i w0k A g e
Precigitation

Opticns:

1) Reaction

2) Patient

3) Reacts

4} Petition

Correct Answer: Raacts

Candidate Answer: Petition

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.
Imprisonment

Frrafitis Riedt A & a7 veg gfav o e 1o we & smid 1 92w ek At gemr s an

Imprisonment
Options:
1) Prison

2) Sonnet
3) Impression

43 Momenit
Correct Answer: Imprassion
Candidate Answer: Sonnet

QID : 224 - In a certzin code lenguage, "BALL" is written as "27" and "CANE" is written as "23". How is "YELL" written in that code language?

v FATEre e Ay 3, "BALL" ¥ 27" Rran Sran & Fov "CANE™ 3 "23 forar 31ar 1 v ¥ amar F TYELLT ¥ PRy s forar smeem?
Opticns:

1) 50

2)39

3)54

461
Correct Angwer: 54
Candidate Answer: 54

QID : 225 - In a certain code language, "RENTED™ is written as “718314" and “SCARF™ is written a5 “92575". How is "CARTED" written In that oode
language?
T Taf¥e &tz AT &, "RENTED” #r "718314" Rr@n AT & %1 "SCARF" & "92576™ 37! 31T §1 280 FI2 HToT &/ "CARTED"™ &7 79 9ot Rrmm simeam?

Optlons:

1) 257314

2) 962514

¥ 237614

4) 755613

Correct Answer: 257314
Candidate Answer: 257314

QID : 226 - In the following question, by using which mathematical operators will the expressicn become correct?
714715216575
s e &, fgr 7o et & # e wiorrr Sfmarst 3w 3= 3 fn mon edereer w1 @ smene

77475716575
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Options:

1)+, +, +and =

4, 2O =

2) %, %, =and +

X, X, = Ul +

3)x,+, =and +

X, +, =AU+

4) %, +,=and +

¥, o+, = OUT =+

Correct Answer: x, +, = and +
X, +, =0T +

Candidate Answer: [ NOT ANSWERED ]

QID : 227 - In the following question, correct the equation by interchanging two signs.
24x8+9+9-10=26
FFAfaf@a v &, B &) nforda skt & g F agast Be o g & 5@ fifav)

24x8+9+9-10=26
Options:

1) + and =

+dur-

2) +and x

+ @ x

3) xand -

X 7T -

4) = and +

x Ul +

Correct Answer: + and x
<+ YT %

Candidate Answer: x and -
X Tur -

QID : 228 - If 21 (49) 14 and 159 (169) 146, then what is the value of ‘A" in 56 (A) 447

afy 21 (49) 14 27 159 (169) 146 21, A1 56 (A) 44 7, 'A' F1 H1=F F41 Q917
Options:

1) 144

2) 121

3) 225

4) 256

Correct Answer: 144
Candidate Answer: [ NOT ANSWERED ]

QID:229-1f23#4%@3  =4a5and 3P #5° @43 =88, thend*# 22 @13 =7

a2 #43@33=as5qu3tssPesP=8sg, AP #22@13=>
Options:

1) 48

2)71

3)56

4) 65

Correct Answer: 71

Candidate Answer: 48
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QID: 230-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teafiea wy # fow o fooredi f © W e
(?) & TUE W A arell = F JfAT

2 7 6
4 1 4
3 2 3
5 4 it

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID:231-

In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

fogafaiaa uw & fer o fasear & @ oy fes
(?) & FAF W HA el FEqT @ Em

2 = 6 26
35
2 3 ? 23

o
w
"

Options:
1)7

2)8
3)9

4) 10
Correct Answer: 10
Candidate Answer: 7

QID:232-
How many quadrilaterals are there in the given
figure?

& ¢ phy # e I ¥

INININ
VAVAV,
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Options:
1) 14

01s
317

419
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]

QID:233-
How many triangles are there in the given figure?

& w Frg A Pred g Er

Options:
15

27
38

4310
Cotrect Anawer: 7
Candidate Answer: 5

QID : 234 - In each of the following question below are given some statements followed by some conchkisions. Taking the given statements to be true even if they
seem o be at variance from commonly known facts, read all the condusiens and then decide which of the given conclusion logically follows the given statements,

Statements:
I. Al boys are smart.
IL. All smart are thin.

Conduslons:
L al boys are thin.
IL. All smart are bays.

# R 1w S A 7 7T W AT 3k e 34 T T I Fo Fead Re i 8, @i st wee W et & B 8w §) @i ek oF i
ot Tt &% xRy o1 =l & fvaed, v e w7l & i = aRewina §)

we:
L T 9% giemE |
I7. i g v )

ferew:

L a8 858 vaer

It oo gl ek 1

Options:

1) Cnly <ondusion {I) follows

Faa fread (N w@

2) Only conclusion {II) follows

S e (1) Bl

3) Both conclugion follow

et @ T w @

4} Neither condusicn {I) nor conclusion (11} folows
o i P (1) AT T @ s (1) W
Correct Answer: Only zonclusion (I) follgws
Faw Tl (1) T

Candidate Answer: Only conclusion (II) follows
e oo {11) At
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QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be rue even if they
seem to be at variance from commonly known facts, read all the condusions and then decide which of the given conclusion togically follows the given statements,

Statements:
I. Al cups are pencis.
II. Scme pendls are pens.

Concdlusions:

L. Some pencils are cups.
IL. Na pendl are cups.
Iil. Some cups are pens.

A v 71T ged T F T U AT 3 w1 39w T I g frd R are 8, et st e wa wut & B 8w ) i ek <3 otk
oy facifre &% T faw a0 3l 3 Toreed, 2w a7 wuat & 3R o IREwEaE 1

L.
L T o AR
1. 0 AR A #

Frewk:

L o aRE w9 i

11 % ATHe 9 T E
L FEFT i E

options:
1} Qnly conclusion {I) Follows

e e (1) w8 &

2) Cnly conclusion (1T} follows

¥ forem (I T Y

3) Only conclusion {I) and {1I) fellow

e Toreadt (1) o T (1) WY €

4) Only conclusion (II) and (IIT} fallow

Fer el (11) on v (10) wér
Correct Answer: Only conclusion (I) follows
e farewd () @ &

Candidate Angwer: Only conclusion (1) and (11} follow
g g (1) vy fesand (1) Wi &

QID : 236 -
From the given oplions, which answer figure can be
formed by folding the figure given in the question?
frRRE fawedt & @ Fia @ 39w aefa oF
# & or$ sl A Few @enE =1 WA 7
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Options:
1)

A

Candidate Answer:

QID : 237 -
Twoe position of a cube are shown helow. What will
come opposite to face containing ‘B'?

@ U uer Y Y amrAnt At T §) B g
For & faudia @ arden?

~F R

& E c B

. 2

Options:

1)C
2)E
3)F
a)A

Correct Answer: F
Candidate Answer: C

11/59
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QID : 238 -
In the given figure, how many wooden plates are
there?

& 78 rE A, Traeh FTFH Hr T Eo

Plates/care

Options:
1) 30

2) 47
3)36

4) 28
Correct Answer: 47
Candidate Answer: [ NOT ANSWERED ]

QID: 239 -
L

Options:
1) 27

2)53
3)50

4) 43
Correct Answer: 43
Candidate Answer: 53

QID : 240 -
In the given figure, how many moving cars are not
red?

& ud sl # FF @ 3w afawe e S 9w

adt & @ g ¥2
Cars/&Tt —» 3 g_gq— Red/aret
17| 6
12 Moving/
15 ¥ afyeme
Options:

1) 22
2)17
3)12
4)29

Correct Answer: 12
Candidate Answer: 12
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QID : 241 -
Which answer figure will complete the pattern in the
guestion figure?

T T TN I O FFT F IR Q@
T2

7N
47

Options:
1

N

2

/Z
/
SN

N

Correct Answer:

N

Candidate Answer: [ NOT ANSWERED ]

3

V4

QID : 242 -
Which answer figure will complete the pattern in the
question figure?

wiea & 3T HEA U HHTa & ufewT B g
Biredifg

*~J
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Opticns:
1)

o

3

3

Candidate Answer:

Q

QID : 243 -
Fram the given answer figures, select the cne in
which the question figure is hiddenfembedded.

& o X swpfeal # & 3@ =R wga @ g
S 3 v el ARE ¥

_/I

14/58
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Options:

hd

2;

A

3

Candidate Answer:

QID : 244 -
From the given answer figures, select the one in
which the question figure ie hidden/embedded.

& % T Al ¥ 3 =T Al & AT
& & oy smrfa AT ®

A
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Opticns:
1)

T
N

Pt Y

\4 o

3

3

» & |

Correct Angwer:

&

Candidate Answer:

&

QID : 245 -

A piece of paper is folded and punched as shown
balow in the question fiqurss. From the givan
answaer figures, indicate how it will appear when
opened?

& & vy wElod # BRem Fger Fee 5
A== Bed TUT Aot & aF 9F fohE 30T IS
st s e

A | L]
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Options:
1)

2

3

) 3 3

=

Candidate Answer: [ NOT ANSWERED ]

QID : 246 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

I & uy PR # R 3gun e &
ASA TS dUT Wil & d¢ I [ 39T AP
St s gam?

@) 1€ |
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Options:
1)

(@)

N

-

o o
: o

]

g
3
:
H
3

o
DO

o]

Candidate Answer:

o
oo

o)

QID : 247 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

7fg e ZUUT W AB YT W T@T AT, & & a8
IR Hpfadt F @ dia @ wpfa uw del &
w8 ufafera gef2

>

Dl
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Options:
1)

2)

4)

A K| K| |

Correct Answer:

I8

Candidate Answer: [ NOT ANSWERED ]

QID : 248 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?
IR v g¥or A AB X W @ W, ar & 7
3T Piaal F F @l O @l U TEa

e wfafRer aefre

A=< B

19/59
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Options:

P
%
¢

X

Correct Answer:

X

Candidate Answer: [ NOT ANSWERED ]

2)

3)

4)

QID : 249 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in fhe altematives are
represented by two dasses of alphabets as shown in the given two
matnces, The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from S to 9. A letter from these mainces can
be represented first by its row and next by its column, for example, ‘§” can
be represented by 00, 24, eic, and "N’ can be represented by 66, 97, eic.
Similarly, you have to identify the set for the word “SOIL”

US WG W U a-aae e gt arn § S @ Roed & @
forelt v & e B Aot # Ru o dearwes dERi & oo i
ara gufe o §, St s R aw @ sregel & B aneed & wes il
Oieh &7 FEm 0 & 4 & T Hegedl 15 & 91 59 HE A UH AW B
UEd WA ufee N @ # TS HEaI o e ST e ¥ 3EeT
& fau 8 @100, 24, nfE g gokm S waar & Gur N @Y 66, 97,
wifE g Zutar &1 FFa & = W & e um § Re owe “solL”
& fow wg ® wwaEa §)

Matrix-| Matrix-Il
IR Firegel
o|1|2]3]4 5l6[7]8]|9
o[S[¥[E|Q]O SITII|L]A]N
1]alo|sS|Y]|E 6|AIN[T|T]L
ZIY[E[QJO]S TITIL[AIN]T
3|0|S|Y|E|Q BIN|T|[T|L[A
4|E|Q[O|S|Y G|L[A[N[T]]
Options:
1) 12, 42, 57,95
2) 00, 30, 68, 58
3) 43, 04, 87, 69

4) 24,11, 98, 76

20/59
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Correct Answer: 43, 04, 87, 69
Candidate Answer: [ NOT ANSWERED ]

QID : 250 -
A word is represented by only one set of numbers as given in any one of
the alternatives The sets of numbers given in the altematives are
represented by fwo dasses of alphabets as shown in e given two
matrices. The columns and rows of Matrix- are numbered from 0 fo 4 and
that of Matrix-1 are numbered from 5 to 9. A lefter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can

be represented by 04, 22, elc, and *0’ can be represented by 59, 98, elc
Similarly, you have to idenfify the set for the word “TRUMP"

T Ueg, Had Uh TEO-HAE g gut wan ¥, Ster 5 Rwedt & @
fodt v & fEmr amn R fawedt @ Rw v dEmemeg et ¥ & aat
ar et o € S B BT o 2 amegt & §) ol & v ol
ofts # e 0 3 43 3 anegell A 5 91 57 el ¥ o deA A
uEe sad Ufis 3R o § TEEH G GRT el ST wEar §1 S
& fow "A- @Y 04, 22, snfe @R gl @ @@Er ¥ W 0" @Y 59, 98.
e o gt @ awar B s At & e uw & Rwo g
“TRUMP" & BT g & aeaiaan B

Matrix- Matrix-Il
A el
oj1]2[3]4a 5]6[7]8]0
O|S|RIE|T]A SIM(PIU[N]|O
1|RIA|S|EI|T BIU[N[O|M|P
2|T|EJA[R]S TIO|M|IP[U[N
3|A|T]R|S]|E BIN([OIM|P|U
4|[E[S|T]A|R GIPIUIN|O[M

Options:
1) 20, 01, 57, 68, 58

2) 42, 44, 89, 99, 88
3) 03, 23, 96, 67, 69
4) 31, 10, 65, 76, 79

Correct Answer: 42, 44, 89, 99, 88
Candidate Answer: [ NOT ANSWERED ]

QID : 251 - Which one of the following is true about mixed economy?

TAFATATEE 7 @ A W Fu= Wi Jegar & v 7 v

Options:

1) Existence of both developed and underdeveloped sectors

TR sreafas i 2t et &1 3ifeae & g

2) Equal importance to agriculture and industry

FENT TUT FHTY F FAA Heed

3) Existence of both public and private sectors in national economy

e Hiegaryr & wawTaE aun e 2xat &% & 3Fde F e

4) Equal partnership of central and states in economic planning and development
i At aur e et F S asa & aEt e

Correct Answer: Existence of both public and private sectors in national economy
TE HeTaE & GEATS a1 s ST 8 # #ieaaa 7 g

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - Which among the following is the most appropriate measure of an economic growth of a country?

TRt & i 31 fawmw &1 Ao & oo AfieRfEs s vea s avs sla o iz
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Opticns:
1) Net Domestic Product

I T I
2) Gross Domestic Product

T T Fodre

3) Per Capita [ncome

wier safad AT

4) Net National Product

Y& o 3o

Correct Answer: Per Capits Income

ofer sofea smr

Candidate Answer: Gross Domestic Product
T T FoTE

QID : 253 - Green revolution was introduced in which Five Year Plan of India?

e i A #r f gt e & e s iy e

Optigns:
1) Seventh
wradt

2) Fifth
gFdt

3) Second

4) Third

drafr

Correct Answer: Third
s

Candidata Answer: Second

5ed

QID : 254 - Who among the following is the ex-officio chalman of the NITI Aayog in India?

TFRTRTES A I S WL & #Ter ST & ol emeT 27

options:

1) President,
gty

2) Prime Minister
WEHTTHEY

3) Vice President
3 TRH

4) Finaree Minister
fava st

Correct Answer: Prime Minister
WU

Candidate Answer: Frime Minister
TEAHAT
QID : 255 - How mary Miniratna companies are there in Category - [7

Aot — 13 Farerehy Freibeesr v 32

Options:
1) 55

2)56
3)59

4y a7
Correct Answetr: 59
Candidate Answer: 56

QID : 256 - Who is the father of “Utilitarian Schooel of Thought'?

RN A Hiw vie & 7as st §7

22158
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Options:

1) Hegel
Eonl

2) Bentham
A

3) James Mil
=g A

4) Locke
Gics
Correct Answer: Bentham
[ oo

Candidate Answer: James Mil
Ecadur)

QID : 257 - Which of the following is not a good argument in favour of democracy?

L. Democracy enhances the dignity of citizens
1. Democracies are mone prosperous than others
11, Demecracies resolve conflicts in a better way

RS A & o JF0T & 9% § UF 30T aF T8 E7

1. AR AR ¥ i ® are §
T, diaea gudt 3 ftr g &

It1. ST faae e s O g £
Optians:

1)Tand 1M

I I

Z) Cnly I

wae I

3)Only 11

ETCil

4) 1T and 111

It Aar i

Correct Answer: Only 11

e I

Candidate Answer: II and 111

IT a4 [11

QID : 258 - What is a voluntary union of 5owereign and independgent states called?

[t TR T ot % R TAToRE T W w e 87
Options:

1) Federation

k104

2) Unitary stata

THIcA+ Ted

3) Confederation

uftdw

4} Nane of these

ot & o i

Carrect Answer: Canfederation
afed

Candidnte Answer: None of these
Eaahik g i:f

QID : 259 - What is the minimum age required to become a member of Lok Sabha?

EHAT F HETT I 3 T sqeraar g = gefr ige?
Opticns:

1) Twenky years

k]

2) Thirty years

o ad

3) Twenky twa yesrs

LGRS

4) Twenty five years

T=aH T

Correct Answer: Twenty five years
e W

Candidate Answer: Twenty five years
e 3%
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QID : 260 - Whiy among the following declares National Emerpency in India?

farfarfre & & <t e & osfia s S war
Options:

1) President

gty

2) Prime Minister

LU

3) Central Coundl of Ministers
Fedra ol afeg

4) Supreme Court of India
HIThT Fafea =T
Correct Answer: President
gaf

Candidate Answer: Presidont

TRl

QID : 261 - Indian Constitution contains how many schedules?

HTTEr G # R it £
Optens:

1) Ten Schedules

T ¥y

2) Twelve Schedules

e gt

3) Fourteen Schedules

4) Eight. Schedules

S Rt

Correct Answer: Twelve Schedules
o st

Candidate Answer: Ten Schedules

T gt
QID : 262 - Which of the following articles relates to ‘abolition of tiles"?

frfRitm st % & v ar st FoiilaT & o & SRt i
Optigns:

1) Article 51

Jaedy 51

2) Article 50

AT 50

3) Article 18

HTHE 18

4) Article 32

IARNE, 32

Correct Answer: Articke 13
[T 18

Candidate Answer: [ NOT ANSWERED ]

QID : 263 - How many members of Lok Sabha are nominated by the Prasident?

% A1 A Tegafe + AR Frae #ae AR R e 82
Opticns:

1) Two members

A "=

2) Three members

CLCR:ciay

2} Elzven members

UG AGFT

4) Twelve members

TRE AEFH

Correct Answer: Two members

& wEr

Candidate Answer: Twelve members
AR HEET

QID : 264 - Which of the following pair is INCORRECT?

friailE A F Fa W e e 7

24153
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Options:

1) Hiuen Tsang - China

T T - W

2) Ibn Bathuta - Morocoo

g Weqel — AN

3) Magasthenes — Greece
PITUAS — AT

4) Fa-Hien - Malaysia

e - Herrng

Comrect A : Fa-Hien — Malaysi
I — A

Candidate Answer: Magasthenes — Greece
RS - A

QID : 265 - Who among the following started Bengal weekly newspaper '‘Sanvad Kaumudi' in year 18217

Y 1821 #F TN B FTAER 79w PR Frfata & & e aw e
Opticns:

1} Raja Ram Mohan Ray

AT Y HgA A

2) Aurabindo Ghosh

Ffae dr

3) Ramkrishna Faramhans

TAFT HER

4) Debendranath Tagore

= 2R

Correct Answet: Rajs Ram Mchan Roy
AT I A T

Candidata Answet: Aurchinde Ghosh
ey dnr

QID : 266 - The Vijaynagar ruler Krishna Dev Raya's work 'Amuktamalayada’ was written in which language?

AU & AT FVOREE 1 T AT TR o7 3% Tordlt o &7
options:

1) Tamil

afRe

2) Malayalam

AT

3) Kanada

Tz

4 Telugu

Correct Answer: Telugu
aan

2

Candidate Answer: Telugu

a7
QID : 267 - Idod of dancing girl {Bronze) is found in which of the following civilzation?

st B Af (when) frafaflne # & Beg e 3 wdt e 32
Options:

1) Mesopotamian Civilization

AereriEmmt S

2) Indus Valley Civilization

ity o

3) Persian Civilization

BITH T

4) Egyptian Civilization

Forer wwar

Correct Answer: Indus Valley Civilizabion
Ry o7& wraar

Candidate Answer: Indus Valley Civilization
ity o wrmer

QID : 268 - Who is also known as "Light of Aska'?

T i 9N @ 1 AT R
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Options:

1) Gautam Buddha

LGLE S

2) Jesus Christ

& wveg

3) Prephet Mohammad

I TR

4) Swami Vivekanand

AT AT

Comrect Answer: Gautam Buddha
AT IT

Candidate Answer: Gautam Buddha
LG

QID : 269 - What are the imaginary lines touching bath the poles of earth called?

et & S 4T Y g A et T T TR i
Opticns:

1) Latitudes

At

2) Longitudes

At

3) Isobars

T Yard

4) Isotherms

HAAT @

Correct Answer: Longitudes
24T

Candidata Answer: Longitudes
EAny

QID : 270 - On which of the following date, summer solstice is observed in Northern Hemisphere?

e A O Pre Taflr oF 3ol iR 3 e O 3 23T S §7
Options:

1) 21t June

215

2Z) 5th August

S T

3] 15th July

18 FATE

4) 1%th Decenber

19 Ry

Correct Answer: 21st June
257

Candidate Answer: 5th Aligust
5 TET

QID : 271 - Which of the following pair is CORRECT?

Farafafara A & =t ar gor w@ 37

Opticns:

1) 4%th parallel - Uniked States of America and Canada

49 AT FHARR — T U FARTT 71 sy

2) 38th parallel - China and North Korea

38 af FATeT ~ <6 e SR i

3) Durand Line — Irddia and Afghanistan

5T W — MR T e

4} Raddiffa Ling — India and S lanka

EEE Y@ - S T A

Correct Answer: 49th parallel - United States of America and Canada
45 af gatary — g v WA A wrar
Candidate Answer: Durand Line - India and Afgharistan
= 0 — N TR e

QID : 272 - Near ooastal areas, temperature ob land i night time gets reduced due to .

&8 et & frre & R T & FHF YA UL A FH7 8 A &)

28158


http://www.sarkariofficer.com

.gradeup.co
WWw.g up ﬁgrada i

01/0842017 Staff Selection Commision

Options:
1) Land breeze

qa oAT

2) Sea hreeze

A% TR

3) Both land ang sea breeze
o 3T HAR WA

4) Sparsely populated coasts
et o A e

Comrect Answer: Land breeze
£ AT

Candidate Answer: 5¢a breeze
% TR

QID : 273 - Which of the following wind is alse known a5 'Snow Eater'?

feraiafae 73 w7 o w2 s & AW S R e
Optigns:

1) Mistral

Tgw

2) Chinook

=

3 oo

4) Harmattan
[oro)
Correct Answer: Chinook

Candidata Answet: Loo
T\'[

QID : 274 - Turmeric is a modified .

ORI ®)
options:

1) Stem

Al

Z) Root

w5

3] Leaves

gfeaat

4 Frukk

L

Correct Answer: Stem
T

Candidate Answer: Root
EEd

QID : 275 - Which of the following cell organelle is present in both plant and animal cell?

farafRie A & wha d el sioen aaeafa am oy witm 24t & safera da §2
Options:

1) Cell wall

widw i

2) Lysosomes

TR

3) Chioroplasts

Ehawas

4) Mitachondria

g

Correct Answer: Mitochondria
FARPTOTET

Candidate Answer: Cell wall
mif¥eT e

QID : 276 - Whit is the nature of cell membrane?

FRF el 1 wgfer Fr E?

27158
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Opticns:

1) Permeable
Llgriez:d

2) Semi-permeable
it g

3} Noh-permeable
Fiediieir=

4) Fresly permeable
o R
Correct Anawer: Semi-permeable
3 o

Candidate Answer: Semi-permeable
ant o

QID : 277 - Which of the following is the Jongest bone in human body?

ferafafas 7§ wiv i A vl Hrwad S h il
Optigns:

1) Forearm bone

s by o B egd

2) Chest bone

ol Fr g2

3) Fernur bone

Siter & gt

4) Shoulder bone

w A EEH

Correct Answer: Femur bone
i & g

Candidata Answer: Femur bone
€ g

QID : 278 - What is the main function of white blood cells (WBCs)?

ST A AN F A FE T
options:

1) T transpost oxygen

it

2 To fight against infection

HEFOT § W

3) Blood clotting

T T UFH FAAT

4) To provide red colour to blood

T B AR T7T T FAA

Correct Answer: To fight against infection
TFHT T WS

candidate Answer: To fight against infection
HFEAYT A w3

QID : 279 - Arangement of feaves in a plant is called as .

oitr 4r afzaat fr cxgearwr Hgr e §)
Options:

1) Phyllataxy

OEFEIRR

2) Phototaxy
pocares: )

3) Phytataxy

Locrarc g

4} Lignataxy

Farssmd=rer

Correct Answer: Phyllctaxy
wrzaeEd

Candidate Answer: Phybotaxy
korare i)

QID : 280 - Law of Inartia is also known a5 .

SEATF A 3y T T )
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Opticns:

1) Newton's fist law of motion

RN T TR WGA A

2) Newton's second law of maotion

A w1 T % gfadva ran

3) Newton's third law of motion

g 1 afer &7 e e

4) Nane of these

A A A

Correct Answer: Newton's fist law of motion
FhT T T T T W

Candidate Answer: Newton's second law of motion
TR T TR 2T

QID : 281 - Surface water of a lake is about to freeze. What will be the temperature (in 9C) of water at the bottom of the lake?

o S 1 TaE & Ol FEA B are ) sie & B waE e g w arees (0 ) Fam fene
Options:

130

2-1

N1

44

Correct Answer: 1

Candidata Answer: 1

QID : 282 - By the use of photovoltaic cell while converting solar energy which of the fallowing is produced?

R S B ¥ FE F 1R Foll % waean ¥ 2l Feefatia & 4 e seea fa 2
Options:

1) Light energy

sl Fat

2) Electric energy

Taege 5

3) Chemical energy

TEAE Foir

4) Heat energy

o TS

Correct Anawer: Electric energy
Faega st
Candidata Answer: Heat energy
g Ft

QID : 283 - Hydraulic brakes used in automatic vehicies is direct virtual apphcation of which law?

TG AT A pETe S o JHET SR T T i e &7
options:

1) Pascal’s law

oTEEe F HaR

2) Archernedes’ principle

IRTART Tagia

3) Newton's law

g T A

4) Bayle's law

ot F1 TaA

Correct Answer: Pascal's law

arERe w1 A

Candidate Answer: Archemedes' prindiple
RS Tl

QID : 284 - Which among the following isfare input devices?
1. Keybeard

IT. Scanner

T11. Juy-stick

Farafafla A ¥ sl ar gage Ragy &2

1. Fr
. T
L Fas
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Opticns:

Nlandll

Ian

2) It and NI

IL 72w 11

3)Iand Il

IaurIn

4 All options are correct.

an ey ai E 1

Correct Anawer: All options are comect.
mhREmah §1

Candidate Answer: All options are correct.
R T el

QID : 285 - Which among the fellowing is a Kght sensitive device used for converting inrages to their digikal form?

fariafle 7 ¥ #ia o e dedm T S oft ® o BSew A mmw i i
Opticns:

1) Printer

fiet

2) Monitor

HERT

3) Scanner

Y

4) RAM

ko

Correct Answer: Scanner
T

Candidata Answet: Scanner
wha

QID : 286 - Which of the following elements are commonly found in most fertilizers?

FTAE A O &9 ¥ ocg A HIUR J99E! & Oe S §?
options:

1) Sodium, Potassium, Phosphonas

e, WRS, weRT

2) Sodium, Potassiur, Calcium

wYitgA, arifan, b

3] Nitrogen, Fotassium, Phosphorus

g, R, SRR

4) Nitrogen, Potassium, Caldum

G, an, S

Correct Answer: Nitrogen, Potassium, Phosphorus
AL, drEEw, FEETE

Candidate Answer: Nitregen, Potassium, Calcum
A, WA, FoRH

QID : 287 - Which of the following is Lsed as moderator in atbmic reachor?

farAfRfie A ¥ Regar st srem s (Rowes) # afster i avy st fsar aver §2
Opticns:

1) Sodium

iR

2) Uraniuem

3) Graphite
AT

4) Boron

AR

Correct Answer: Graphite
Aorge

Candidate Answer: Uranium

R_brw

QID : 28R - "0il of vitrial' is the common name of which of the following?

forifis A & frwe 3 o g (R e 2

30452
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Options:

1) Nitric Acid

ERE A

) Carbonic Acid

wFiellfers HFer

3] Acetlc Acid

it 3w

4) Sulphuric Acid

|ERRF A

Correct Answer: Sulphuric Acid
TR 3P

Candidate Answer: Miric Acd
TR 3T

QID : 289 - Which among the fellowing acid is also known as 'Muriatic Add'?

feriatEe 3 ¥ i W e s e & am i o e b7
Opticns:

1) Hydrachlaric Add

FdEaAlE wrT

2) Sulphuric AGd

TN AT

3) Carbonic Acid

st aew

4) Nitric Acid

MERF

Correct Answer: Hydrochloric Acid
FRAFATYE HET

Candidata Answer: Sulphuric Acid
wErfs HEe

QID : 290 - What is a Yermicompost?

At T E?

options:

1) Qrganic fertiizer

e I

2 Incrganic fertilizer

s s

3) Toxic Subsiance

el o

&) Type: of soil

i =

Correct Answer: Organic fertilizer
T i

Candidate Answer: Inorganic Fertilizer
oo 7

QID : 291 - Plants which can survive in very less water are called as .

g o A 2 i e e it _wFra &l
Options:

1) Halophtes

i

2) Xerophytes
R

3) Heliophybes
AT

4] Sapraphytes

Loric

Correct Answer: Xerophytes
LY

Candidate Answer: Xerophytes
=

QID : 292 - Which among the following represents plataau phase in population?
ferrffira A & i FEEm & TR ATE gy g
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Options:

1) Birth rate and Death rate are equal

SR T AT A & AT

2) Birth rate and death rate are not equal

T G T S AT A G

3] Birth rate 1s higher than death rate

A, A & W HlE

4) Daath rate is more than birth rate

A B, TR BT A HOE P

Correct Anawer: Birth rate and Death rate are equal
TR T FU HFY WA Y

Candidate Answer: Birth rate i higher than death rate
TR, [T ATE D

QID : 293 - Programme for capacity building of Elected Woemen Representatives {EWRs) of panchayals has been launched at .

o 1 il Atk wREE F s AR SR dem_ Ay h
Opticns:

1) Nagaur, Rajasthan

AR, T

2) Ranchi, Iharkhand

T, mrraez

3) Patna, Bihar

m} ﬁm

4) Lucknow, Uttar Pradesh

FEAF, T T

Correct A : Ranchi, Jharkhang

T, FrEry

Candidate Answer: Lucknow, Uttar Pradesh
REHF, SraT e

QID : 294 - Who invented computer?

TFGET T NIRRT Rer
options:

1) Alexarkler Fleming

ToiTEt ol

Z) Chatles Babbage

e i

3) Bill Gates

famw

4) Michael Faraday

AT g

Correct Answer: Charles Babbage
T W&

Candidate Answer: Charies Babbage
AeH R

QID : 295 - Which of the following pair is CORRECT?

frrffia AR sla arger aft 37
Options:

1) Snooker - Cue

T -7

2) Golf - Pole

M - O

3) Rughby — Bat

@t - T

A4} Squash — Net

F - S

Comrect Answer: Snocker - Cug
TR - F

Candidate Answer: Snooker — Cuoe
T -

32459
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QID : 206 -
Match the following.

faraRfEm o feme &
Festival J catgR State | U=

1. Onham a. Maharashtra
oA HEE

2. Kuchipudi b. Andhra Pradesh
R = R

3. Pongal c. Tamil Nadu
tiorer GIE o)

4. Gudipadwa d. Kerzla
& gEW el

Options:

11 1-¢, 2-8, 3-b, 4-d
2)1-d, 2b, 3¢, 42
3) 1-b, Z-a, 3-d, 4-¢

4) 1-d, 2-c, 3-d, 42
Correct Answer; 1-d, 2-b, 3-¢, 4-a
Candidate Answer: 1-d, 2-b, 3-¢, 4-3

QID : 297 - Wha among the following is not a recipient of Nobel Brize 2016 in the fizld of Chemistry?

s A9 wh varme e & A7 3 2016 F AR grEwr et T8 §2
Options:

1) Jean — Flarra Sauvage

S ey 2

2) Sir ). Fraser Stoddart

3. F S

3) Bernard L. Feringa

awirk o,

4 John M. Kosterlitz

Fi T EeAfee

Correct Answer: John M. Kogterlitz

et T, TS

Candidate Answer: Sir J. Fraser Stoddart
B o, AT wEE

QID : 298 - 'Life on my terms: from the grassroots to the corrigars of power' is 2n autobiography of _____.

AT it ATy T e & T § S S aits s o anear &)
options:

1) P. Chidambaram

o, RERH

2) Jaswant Singh

v fiig

3) Sharad Pawar

g T

43 L.K. Agvani

oW, &, HEar

Correct Answer: Sharad Pawar
AR TIT

Candidate Answer: Jaswant Singh
FaEa g

QID : 299 - The 'One belt, One road’ sumoit was hekl in which of the fellowing cities?

T e 4 U Gt @Fds AR & A W uge A arafaa B are?

ﬁgradq i

3352
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Options:

1) Shanghai

o

) Beifing

Cuen

3) Guangzhou

A

4} Hangzhou

wivalr

Correct Anawer: Bejjing
e

Candidate Answer: Beijing
Euxni

QID : 300 - Maitres Express' is an intemational train beb, 1 India and

F TFENE HITT T ¥ 1o v aim T
Opticns:

1) Pakistan

aifavedta

2) Bhutan

s

3) Bangladesh

TS

4) Nepat

ey

Correct Answer: Bangladesh
IRy

Candidata Answet: Bhutan
sz

QID : 301 - If N = (/7 - V5¥({v7 + +/5), then what Is the value af 1/N?

TN = (V- VSV + VO E A UNT AR 7

Options:
1) 6- V35

216 + V35
N7+ 435

4)7- V35
Correct Answer: § + v35
Camdidate Answer: 6 + V35

QID : 302 - The sum of three cansecutive even numbers is always divisible by .

o FAEE B S F AN g Renfim da

Options:
1) 12

26
3118

4) 24
Corract Anawer: &
Candidete Answer: &

QID : 303 - How many positive factors of 24 are there?
24 & Ry SRR I 87

Optiona:

13

4

36

48
Correct Answer: §
Candidate Answer: 4

34/59
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QID : 304 - 4/5 part of a fank is filed with ofl. After taking owk 42 litres of oil the tank is 374 part full. What is the capacity (in litres) of the tank?

T T 45 SW?!RH‘SRTE‘&TI‘?I 42 T ¥ T Q1 & W EHFT 374 AT A AT F | TP R (e ®) Fr A
options:

1) 420

2) 630

3) 840

4) 1680

Correct Answer: 340

Candidate Answer: [ NOT ANSWERED ]

QID : 205 - What is the largest four digit number which is a perfect square?

AT it A g e 7N # afr dear A v A §
Options:

1) 9704

2) 5801

3) 9901

4} 9999

Correct Anawer: 5801

Candidate Answer: 5704

QID : 206 - Two inlet pipes can fill 3 cistern in 20 and 24 hours respectively and an cutlet pipa can empty 160 gallons of water per hour. All the three pipes working
together can fill the empty cistern in 40 hours, What is the capacity (in gallons) of the tank?

2 T3 U T I FAM. 20 T 24 6 A M T 3R 0 el A OF U A 160 A IR TN T ) UF WY A A9 TR G 3 40 98 9 ama #
T iy wrwen (A ) e 32

Options:

1) 1200

2) 2400

3) 23600

4) 1800

Correct Answer: 2400

Candidate Answer: [ NOT ANSWERED ]

QID : 307 - P alone can complete the work in 5 days, Q alone can do same work in 6 days and R 2lone can do the same work in 12 days. They joiotly complete the
work and aaen Rs 5400. What is the share of R?

P e e #1785 Rt & O W E, Q e SE A 6 R 3 O R Fahar # e R 3sen 33 R Y 12 Rl 3 O A §1 O W S F
Fe £ T 5400 5. T ¥ R o e g

Options:

1) 1000

2) 1200

3) 1500

4) 1800

Correct Answer: 1600

Candidata Answer: 1800

QID : 308 - After giving two successive discounts of 20% and 25% a cycle is sold for Rs 4200. What is the marked price (in Rs) of the cyde?

20% 4T 25% H1 21 FEE T 3 F Qv v FEREE 4200 3. F I A ¥ wniE 1 afF gea B am

Options:
1) 7200

2) 7000
3) 6500

43 6200
Correct Answer: 7000
Candidate Answer: §200

QID : 309 - The marked price of an article is 50% more than its cost price. What should be the discount {in %} offered by the shopkeeper so that he eams a profit
of 12%?

e A 1 A AEa 30w wEa § 60% AT §) Reaa O (% d@) &4 93 gmmet At 12% W ST Sed g
Options:

1)12

2925

3) 320

4) 60

Correct Answer: 30

Candidate Answer: 30
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QID : 310 - The ratio of the speed of P, Q and R is LT : 12 : 15 respectively. What is the ratio of the time taken by P, Q and R respectively to cover the same
distance?

P, € 7RI R A WRY T ST FHA: 10 12 1 15 EOTAT S T FT & R F0n: P, O TR R SEAT FRY AT T A A T
Options:

1)10:12: 15

2)15:12: 10

3)6:5:4

44:5:6
Correct Answer: 6:5: 4
Candidate Answear: [ NOT ANSWERED ]

QID : 311 - Thres bottles of equal capacity are containing a mixture of milk and water in ratic 2 : 1, 3 : 7 and 4 : 11 respectively. These threa bottles are emptied
into 2 large bottle. What is the ratio of milk and water respectivaly in this large bottle?

T WA s B dictel A g9 A T F AT AU w2 01, 3 0 7 AT 4 2 11 ¥ 5 o Al Fr o a e 3 @l w1 R e § | @ diae A w
U T g T T R #7

Optigns:

1)37:53

2)37:90

3)37:30

7:30

Correct Answer: 37 : 53

Candidate Answer: [ NOT ANSWERED ]

QID : 312 - The average of 11 resukts is 182, [f the average of first 6 results is 199 and that of the last 6 resulls is 161, then what will be the 6! result?

11 afromaAT £ shem 182 & afy; w6 TfomAt Hr siea 190 # man A 6 Rt Hr A 161 £, & 6 af Sfroms v R

Optiona:
1) 79

2) 1185
3) 158
4) 237

Correct Answer: 158
Candidate Answer: [ NOT ANSWERED ]

QID : 313 - The average of 45 resuks was calculated as 27 but later it was found that while calculating 39 was taken as 93 by mistake, then what will be the correct
average?

45 qiyoTAT #7 Hre 27 afEerd FRar a12m or SfET a2 & I8 O e B T @ oftEesT % BHT 39 F a2 93 o (o o, 3 T ivad e g

Optians:

1) 258

2)26.8

N2

4) 28.2
Correct Answer: J5.8
Candidnte Answer: [ NOT ANSWERED ]

QID : 314 - A shopkeeper professes o sell his goods at cost price but uses a 550 gm weight instead of 1 kilogram weight. What is the prafit percentage of the
shophkeeper?

T AR A A Bt AE T AR o e wa § AR ap v R & A & s av 960 7 ¥ AR & wai o b g o e St v i
Qptions:
1

1

q_
g8
2)
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Correct Answer:

1
4_
5]

Candidate Answer: [ NOT ANSWERED ]

QID : 215 - A person sikd a boak for s 21 and qot a loss percentage which was numerically equal to the cost price. What is the cost price {in Rs} of the book?

O SiFA 21 . 7 U PR auoer § U A # S wfcne s g § A SeneeR w5 HE & w0t §, J e e gy (A s i
Options:

1) 30

270

2) Both 20 and 70

30 @ 74 =t

4) Cannat be determined

AT AR R ST "

Correct Answer: Both 30 and 70

30 a1 70 At

Candidate Answer: Cannot be determined
T T BT S A

QID : 316 - If length of a rectanyle is increased by 10% and breadth is increased by 15%, then what will be the percentage increase in the area of rectangle?

4fe, W 3y aFard A 10% 1 gfe maw Tterd A 15% d gie Y ol §, o T & Saed A Faer afdvm & gf e

Options:
1) 25.5

225
3) 284

4)26.5
Cormect Answer: 26.5
Candidate Answer: 25

QID : 317 - If the base of triangle is increased by 10% and height is decreased by 20%, then whit will be the percentage change in the area of a triangle?

ey v (0 F R & 10% Y IRy A A § o Fag A 20% B w0 H Arch §, o B & @vee # fraan wird St dem?
Optons:

1) 30

2)20

3l

412

Correct Answer: 12

Candidnte Answer: 30

QID : 318 - A bus starts running with some initial speed and its spead increases every hour by 9 kmfhr. If it takes 11 bours to cover a distance of 572 km, then
what was the initial speed (in km/hr) of the bus?

W T WA TR AT R T ST ek & o 3l R A e e o ol s s A ad f e sz e St at A s ad g @
% Fr arfiie arf (f.af. afe e 3 war O

Options:

1) 35

27

3) 105

414

Corract Angwar: 7

Candidate Answer: [ NOT ANSWERED ]

37se
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QID:319-

A boat goes 15 km wupstream and 22 km
downstream in 5 hours. It goes 20 km upstream and

§2§ km downstream in :13_? hours. What is the speed

(in km/hr) of stream?

TE a5 O # 15 A arr ¥ ofdwe gur 22
fFaf. U F FEggeE TN §TE gcit:izo

ﬁs.m.ma:uawam%ﬁamqmaa

Iegmer S ¥ U Y afy @ ofy ger &)
I &

Options:
1)3
2)5
3)8

4) 11
Correct Answer: 3
Candidate Answer: 3

QID : 320 - If a certain sum becomes 4 times in 4 years at compound Interest, then in how many years, it will become 64 times?

AT TFGTR IS W A I FIS U 4 9 7 4 70 g7 A §, 7 e ant & g 64 777 81 o
Options:

1)5

2)12

3)16

4)24
Correct Answer: 12
Candidate Answer: [ NOT ANSWERED ]

QID : 321 - What is the simple interest on Rs 7200 in 7 years at the rate of 14% per annum?

7200 9T 7 9 # 14% wiaa® 1 &7 & WIUROT 4TS a4 gen?

Options:

1) 6800

2) 6812

3) 7056

4) 7096

Correct Answer: 7056
Candidate Answer: 7056
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The table given below shows the marks obtained by

six students in 5 different subjects.

et &r arg arferer o ot a5 Raat #F o e

T 3T B T AT |
Subject / e
Student 5 R & y
OE] Q
A T2 75 80 82 93
B 87 94 78 87 95
G 68 79 55 91 72
D 55 69 74 81 76
E 74 88 83 93 87
F 86 92 95 81 82

Maximum marks for each subject is 100.

e fww & A #feas d¥E 1008

What are the total marks obtained by student D in all subjects?

o1 D 2@ |t et 3 areq fbw oo e e Feae §7

Options:
1) 343

2) 355
3) 338

4) 362
Correct Answer: 355

Candidate Answer: [ NOT ANSWERED ]

fgr:dl-. [
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The table given below shows the marks obtained by

six students in 5 different subjects.

ey & o€ e A o ol ar 5 faaat & o few

T 3T B T AT |
Subject / e
Student 5 R & y
OE] Q
A T2 75 80 82 93
B 87 94 78 87 95
G 68 79 55 91 72
D 55 69 74 81 76
E 74 88 83 93 87
F 86 92 95 81 82

Maximum marks for each subject is 100.

e fww & A #feas d¥E 1008

What is the average of total marks obtained by all six students in subject R?

fawa R & ol o ot 2an wrea R 9o o et & e FT 87

Options:
1) 77.5

2) 76.2
3)93

4) 83.4
Correct Answer: 77.5

Candidate Answer: [ NOT ANSWERED ]

fgr:dl-. [
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QID:324-

The table given below shows the marks obtained by
six students in 5 different subjects.

et &r arg arferer o ot a5 Raat #F o e

T 3T B T AT |
Subject / e
Student 5 R & y
OE] Q
A T2 75 80 82 93
B 87 94 78 87 95
G 68 79 55 91 72
D 55 69 74 81 76
E 74 88 83 93 87
F 86 92 95 81 82

Maximum marks for each subject is 100.

Tede g & B #faasa #w 1008

What is the aggregate percentage of marks obtained by student C in all the five subjects?

o1 C gan @it oiar fawat & area 6 715 3wl i siwa i 82

Options:

1)71

2)75

3)76

4)73

Correct Answer: 73

Candidate Answer: [ NOT ANSWERED ]

QID : 325 -
The table given below shows the marks obtained by
six students in 5 different subjects.

e &y ar$ anfore # o o e 5 fauat # uw few

T FHeRT BT AT aTar &
Subject / fasa
Student
i Pl @ | R | S| T
A 72 75 80 82 93
B a7 94 78 87 95
C 68 79 55 9N 72
D 55 69 74 81 76
E T4 88 83 93 87
F 86 92 95 81 82

Maximum marks for each subject is 100.

=T favw & R afowas 3w 1008

Marks obtained by student B is how much percent more than the marks obtained by A?

T B ZaNT Wree TR0 910 3 T A a1 WTod FRT oTe 3 & fnae afaere sifts 22

fgr:dl-. [
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Options:
1)8.3

274
397

43111
Correct Answer: 9.7
Candidate Answer: [ NOT ANSWERED ]

QID : 326 - The perimeter of base of a right dreular cone is 88 cm. IF the height of the cone is 48 an, then what is the total surface area {in cmz) af the cone?

o T el R ¥ LT 6 SR 88 ¥, b afk i o Sord 48 B, ¥, o v e Thw dmwa (A2 Ay warde
Optigna:

1) 2200

2) 1100

3) 2354

42816

Correct Answer: 2816

Candidate Answer: [ NOT ANSWERED ]

QID : 327 - What is the length of the longest rod that can be placed in a room which is 3 metres long, 4 metres broad and S metres high?

U 3 ey wrarg, 4 ey uterd afiy 5 drey Fard wd &R A v St and ged A o & wead F & gein

Options:

15

2)12

B) 5v2

4) 6v2

Corract Answer: 5v2

Candidate Answer: 5v2

QID : 328 - If the area of a square & 48, then what is the diagenal of the square?

= v 19 w7 Sy 48 &, A wat = Rt v g

Qptigna:
1) 46

2) 43
3y a2

4)3v6
Correct Answer: 4V6
Candidate Answer: 41/3

QID : 329 - A oylindrical well of height 20 metres 2nd radius 19 metres is dug in a field 72 metres long and 44 mefres wide, The earth taken out is spread evenly on
the field. what is the increase (in metre) in the leve| of the field?

72 FT 0 TN 44 Fey N2 A F o 20 FreT TENE T 14 AT T e AT T F B T FE HF e 7 B 7 @9 F v g = & S
AT ¥ w0 H R agralt (7w #) & arwie

Options:

1) 6.67

2)3.56

3)5.61

4)4.83

Correct Answer: 4.83
Candidate Answer: 4.83

QID : 330 - Radius of hemisphera is thrice than that of a sphare. What iz the ratio of total surface area of hemisphere 10 that of sphere?

T S S P O et S T 3 Fe | aneiire e e e QBT A1 6 IO 4 gm?
Options:

127:8

2)21: 4

3N2F:4

MN6:1

Correct Angwer: 27 : 4

Candidate Answer: 27 : 4

QID : 331 - It x + y = 4, then what is the value of »3 « v* + 127

Tfre +y =48, alx® £y + | Doy AR W0 g
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Options:
1) 16
232

3) 64

4 256

Correct Answer: G4
Candidate Answer: 256

QID:332-

H x‘l+%=198 and x > 0, then what is the value of

xz—%?

1 " 1
uﬁx‘+?=1gs Jwx>0 8, ar ﬂ_?mm
B

Options:
1) 14

2) 27
3) 10v2
410

Correct Angwer: 14
Candidate Answer: [ NOT ANSWERED ]

QIU : 333 - It 3¢ - [LA(3%)] = 9, then what is the value of %2 « [1/{81x%)]?

afe - [1/(3x0)] = 9 &, @ 2 + [1(B1xZ)] & A & ghar?
Options:

17

2) 8319

ni

4712119

Corract Anawer: A3/9

Candidate Answer: [ NOT ANSWERED ]

QID : 334 -1 x3 - v = 112 and % - y = 4, then what Is the value of x® + y2?

FqExd -y = 112AMx -y = 4 &, a2 + y2 55 I QT QTr?

Optons:

116

220

P!

4 28

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED ]

QID : 335 -
If x=5—1,lhenmaiishevalueof €+ 1 ?
X P

uﬁx=5—% g, & xﬁ+% T AT AT &7

Options:
1) 62%
2) 3125
3) 2525

4) 2500
Correct Answer: 2525
Candidute Answer: 625

QID : 336 -In AABC, #A: 2B : 2C =3:3: 4. Aline parallel ka BC is drawn which touches AB and AC at P and Q respectively. What ic the value of 2AQP - ZAPQ?

BABCH, cA: 2B 20 =3 3 4% o a1 BC & FAtar drdt snch & = AB aan AC &8 e P e Q o et &t 31 LAQP - £APQ &1 #1A &7 gran?
4358
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Options:
1) 12

2)18
3)24

4) 36

Correct Answer: 18

Candidate Answer: [ NOT ANSWERED ]
QID: 337 -

In the given figure, O is the center of the circle,
ZCAQ =35° and ZCBO =45°. What is the value (in
degrees) of LAOB?

& os sty # O T g & ZCAO=35°F
ZCBO=45° ¥ ~AOB & AT (B &) =7 &2

y H—
! T N
Ix \\ “\\x \
| LN \._\\ \
( o——{c
I -~
4 ',r'/ |'l
\ / ~ /
% i /
No, B
N s
B -
Options:
1) 90
2) 110
3) 160
4) 130

Correct Answer: 160
Candidate Answer: [ NOT ANSWERED ]
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QID : 338 -
In the given figure, APQR is drewn such that PQ is
fangent to a circle whose mdus is 10 cm and QR
passes fhirough cenire of the circle. Point R lies on
the circle. H QR = 36 cm, then what is the area (in
cm?) of APGR?

& o Wi # APQRS TH wR Ferar T ¥
F PQ T g7 & Tt T & ot e 10
AR § aMm QRIT & FE B T T & Rig
Raa w Teya & ok QR=36a.3. & @ APQR
@ aswwer (@2 &) T gwe

Options:
111345

2) 148
3) 166.15

4) 180
Cotrect Answer: 166.15
Candidate Answer: [ NOT ANSWERED ]

QID : 339 - The side QR of APQR Is produced to 5. If £PRS = 105° and 20 = {1/2)<P, then what is the value of <P?

APQR ¥ 3731 QR 3t Rz S Aw warat 7rar 1 A LPRS = 105° A4r £Q = (1/2)2P &, 7 2P F 30 211 g2

Options:
1)45

2) 60
370

475
Cotrect Answer: 70
Candidate Anawer: 75

QID : 340 - The perimeter of an isosceles triangle is 64 cm and each of the equal sides is 5/6 times the base, What is the area {in cm?) of the triangle?

O rfaary e T TRATT 64 . & T IHH IR TAF TR A F 576 TOW & A 7 2w (A2 &) 7w g

Optons:
1) 169

192
3) 19

4) 184
Correct Answer: 192
Candidate Answer: [ NOT ANSWERED ]
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QID : 341 -

79, z
Whet s the simglified value of 2% © 2°°"'e° ®2

2 2
JJsec 9+2co:sec 2] S A 1 ¥7

Options:
1) cosec 26

2) sec’ ©
3) cosec 0 sec ©

4) tan B
Correct Answer: cosec 28
Candidate Answer: [ NOT ANSWERED ]

QID :342-
X — xtan®15°

1+tan® 15°
then what is the value of x?

=sin 60° + cos 30°, then what is

. 24p0
X—x1an 157 - 5in 60 + cos 30° ¥, &Y x &

1+ tan’ 15°
T T E?
Options:
1)2
2)-1
3)-2
4)1

Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]
QID:343-
3 .
What is the simplified value of M?
cosB8-2cos’ B

P
28" 0-8IN® & et A T B
cosB-2cos” B

Options:
1)tan®
2)sin @
3)cos8

4) cot 6
Correct Answer: tan 8
Candidate Answer: [ NOT ANSWERED ]

QID : 344 - If tan 6 tan 58 = 1, then what is the value of sin 287

af2 tan B tan 56 = 1 &, @ sin 26 &7 AR Fr 2

Options:
1)0

2)1/2
3) 1v2

4) V3/2
Correct Answer: 1/2
Candidate Answer: [ NOT ANSWERED ]
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Igr:dl, [

QID : 345 - The angles of elevation of the top of a building from the top and bottom of a tree are 30° and 60° respectively. If the height of the tree is 50 m, then

what is the height of the building?

U 92 & g Fur u F Rl AR & ofnd & Ieae T e 30° T 60° ¥ 3% 92 €y g 50 #ex &, O sAna @ S feah i

Options:
1) 50v3

2)75
3) 50(v3 + 1)

4) 75v3
Correct Answer: 75
Candidate Answer: [ NOT ANSWERED ]

QID : 346 -
The given pie chart shows the marks cbtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

To o g9 R # e o TR Tfdea ot &
e 3t (fEaft &) @ g T ¥ o ewr wlem
& umE g 3w 432%

Social
Science/
A Hindi/
Ieoga M

70° 65°
English/
E DT
Science/ 75°

What is the total of marks obtained in Hindi and Maths?

ey e a1fOTer 3 et et 31 et G0 7
Options:

1) 178

2) 172

3) 174

4) 182

Correct Answer: 174

Candidate Answer: [ NOT ANSWERED ]

47159
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QID : 347 -
The given pie chart shows the marks cbtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

for omw @@ R # e o oo Rffew ot &
wE ot (Baht &) o g T @) o e ol
& uE g HE 432%

Social
Science/
AT Hindi/
Itaga fasdy

70° 65°
English/
EoE])
Science/ 75°
fremer Maths /
70° LG
80°

The marks obtained in science is what percentage of the total marks?

Farirer 3 wiee 37 Fot et @ R wieerd §2

Options:

1) 20.14

2)18.12

3) 17.16

4) 19.44

Correct Answer: 19.44

Candidate Answer: [ NOT ANSWERED ]
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QID : 348 -
The given pie chart shows the marks cbtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

for omw @@ R # e o oo Rffew ot &
wE ot (Baht &) o g T @) o e ol
& uE g HE 432%

AT Hindi/

70° 65°
English/
EoE])
Science/ 75°
IEE O
70°

The marks obtained in Maths is how much percent more than the marks obtained in Social Science?

AT & wred e GrfEE A & gred A & Fas afded afaE &
Options:

1) 7.14

2)14.28

3)9.13

4) 10.41

Correct Answer: 14.28

Candidate Answer: [ NOT ANSWERED ]

fgr:dl-. [

49/59


http://www.sarkariofficer.com

www.gradeup.co f
9 p = gradeup

01/08/2017 Staff Selection Commision
QID : 349 -
The given pie chart shows the marks cbtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

for omw @@ R # e o oo Rffew ot &
wE ot (Baht &) o g T @) o e ol
& uE g HE 432%

AT Hindi/

70° 65°
English/
ST

In how many subjects marks obtained are more than the average marks per subject?

Torverer Tererat & wre 3wt Rl & afveae 3w @ 3w 2
Options:

1)3

2)1

3)2

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]
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QID : 350 -
The given pie chart shows the marks obtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

ar o o R A oo o Rt Rwat &
wig e (fEaft ) o celmr oor {1 o= T ofien
# o g HE 432%

Hindi/

If the maximum marks per subject is 100, then what Is the total marks (in percentage) obkained in Englich and Hindi together?

TR TF T AR 3 100 §, 7 SRS T ey 2t A T T 1 (AT &) T 0 87

options:

1) 168

2)68

3)76

43 84

Correct Answer: §4

Candidate Answer: [ NOT ANSWERED ]

QID : 351 - In the following question, some part of the sentence may bave emers. Find cut which part of the sertence has an error and select the appropriate
option. If a sentance is free fram error, select Mo Error.

The CEQ has decided to visit all the (1)/ departments of the office tomorrow (2)/ evening to review of the situation. (3)/ No Error {(4)
Options:

11

52

33

44

Correct Answer: 3

Candidate Answer: 2

QID : 382 - In the following question, some part of the sentence may have errars. Find out which part, of the sentence has an error and select the appropriate
option, If 3 sentence is free from etror, select 'No Emor’,

Neha is a very goad fashion (1) designer but her designs are not [2)/ easily acoessible with the public. {3)/ No Ervor (4)
Options:

101

02

33

44

Correct Answer: 3

Candidate Answer: 3

QID : 353 - In the following question, some part of the sentence may have emors. Find cut which part of the senience has an error and select the appropriate
option, If a sentence is free from error, sekect 'Na Emor’,

Dr. AP Abdul Kalam's life was a (1)} sage of dedication in the {2}/ cause of educational reforms in India. (3)/ No Emor (4)
Options:

11

2

33

94
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Correct Answer: 2
Candidata Answeat: 3

QID : 354 - In the following question, some part of the sentence may have emors. Find oot which part of the sentence bas an error and seledt the appropriate
aption. If a sentence is free from eiror, select 'Wo Emor,

Ashish was Rstening {1}/ to a radio when [2}/ Sunita arrived. {3}/ No Error (4)
Optigns:

171

X2

N3

44

Correct Answer; 2

Candidate Answer: 1

QID : 355 - In the following question, some part of the sentence may hiave errors. Find out which part of the sentence has an error and selact the appropnate
aption. If a sentence is free from error, select 'No Error.

When the professors are on strike (1)/ and 1 notice of this effect is pasted on the university gate (2)/ there is no sense to go there. {3)/ No Error
“

Optons:

11

22

»3

44

Corract Answaer: 1

Candidate Answer: 4

QID : 356 - In the following question, the sentence given with blank to be filed in with an appropriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate option.

of tha five parsons will appaar in the court.
Optigns:
13 Arwy
2) Heither
3) Either
4) Beth
Correct Answer: Any
Candidate Answer: Any

QID : 357 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct altemative out of tha four and
indicate it by selecting the appropriabe option.

the child saw his parents, he became happy.
Options:

1) Where

2) Who

3) when

41 While

Correct Answer: When

Candidate Answer: When

QID : 358 - In the following question, the sentence given with blank to be fllled in with an appropriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate option.

Ruhika was manded
Options:

17 with

Nta

3) by

4) off

Correct Answer: to
Candidate Answer: with

Akshay.

QID : 359 - In the follawing question, the sentence given with blank to be filled in with an appropriate word. Select the correct altemative cut of the four and
indicate it by selecting the appropriate option.

Neha'spayis ___ of her work.
Optigns:

1) too highly

2) high enough

31 much high

4) enough high

Correct Angwer: high enough
Candidate Answer: much high
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QID : 360 - In the following question, the sentence given with blank to be filled in with an appropriate word. Seledt the correct altemative out of the four and
indicate it by selecting the appropriate option.

Rahul can the four candles in one breath.
Options:

1) pix out

2) put down

3 putup

4) put away

Corract Answar: put out

Candidate Answer: put out

QID : 361 - In the following question, out of the four alternatives, select the word similar in meaning te the word given,
Imbecility

Optigns:

1) dazziing

2) foolishness

3) desperate

4 flatbery

Correct Answer: foolishness

Candidate Answer: [ NOT ANSWERED ]

QID : 362 - In the following question, out of the four alternatives, select the word similar in meaning to the word given,

Somnolant

Optiona:

1} irritate

2) provake

3) drowsy

4) enrage

Correct Answer: drowsy

Candidate Answer: [ NOT ANSWERED ]

QID : 363 - In the fallowing question, out of the four alternatives, select the word slimilar in meaning to the word glven,

Invidious

Options:

1} mournful

2) slowly

3) indifferent

4} hateful

Correct Answer: hateful
Candidate Answer: indiferent

QID : 364 - In the following question, out of the four alternatives, select the word similar in meardng t¢: the word given.

Haughty

Options:

1} inbarn

) fearful

3} skillful

4) arrcgant

Correct Answer: anogant
candidate Answer: inborn

QID : 365 - In the following question, out of the feur alternatives, select the werd similar in meaning 1o the word given.

Lethal
Options:

1) stimulus
2) fatal

3) imaginary
) bliss

Corract Angwer: fatal
Candidate Answer: [ NOT ANSWERED ]

QID : 366 - In the following question, out of the four alternatives, select the woerd opposite in meaning to the word given.

Festal
Options:

1) unpopular
2} sclermn
3) memry

&) sharp

Correct Answer: solemn
Candidate Answer: sharp
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QID : 367 - In the following question, out of the four alternatives, select the word apposite in meaning ta the word given.

Slender

Options:

1) stout

2) decelt

3) shot

4) Inadegquate

Corract Anawer: stout

Candidnte Answer: deceit

QID : 368 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Tardy

options:

1) mild

2) quick

3} hard

4) geruine

Correct Answer: quick
Candidate Answer: mild

QID : 369 - I the follawing question, out of the four alternatives, select the word opposite in meaning to the word given.

Attenuate

Options:

1} strong

2) sweet

3) fragrant

4) difficult

Correct Answer: strong
Candidata Answet: strong

QID : 370 - In the fullowing question, out of the four alternatives, select the word opposite in meaning to tha word given.

Extant

Options:

1) forsake

2) endorse

3) destroyed

4) recammend

Correct Answer: destroyed
Candidate &Answer: cndorse

QI ; 371 - In the following question, out of the four alternatives, select the alternative which best expresses the mearung of the idiom/phrase,

Lion's mouth
Optigns:

1) Strick rufes

2} Harsh spoken

3) Brave

4) A dangeraus situation

Correct Answer: A dangerous situation
Candidate Answer: A dangerous situation

QID : 372 - In the follewing question, out of the faur alternatives, select the altemative which best expresses the meaning of the idiom/phrase.

A stiff-necked person

Options:

1) Honest and open

2) An obstinate person

3) A source of quarrel

4) Crdinary person

Cotrect Answet: An obstinate person
Candidate Answer: An obstirate person

QID : 373 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Cross out

Opticns:

1) Interrupt

Z) Summon up

3) Eliminate

4) Inflate

Correct Answer: Elminate

Candidate Anawer: [ NDT ANSWERED ]
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QID : 374 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Make away with

Options:

1) To compansate

2) To remove

3) To find out

4) To understand

Corract Anawer: To remave

Candidnte Answer: [ NOT ANSWERED ]

QID : 375 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To put one out of countenance

Options:

1) T put a difficulty in the way of progress
2) To provoke quarrel

3) To make one feel ashamed

4) To deceive someone

Correct Answer: To make one feel ashamed

Candidate Answer: [ NOT ANSWERED ]

QID : 376 - Improve the bracketed part of the sentence.

Practically {auary part) of the papaya tree is used by man.
Options:

1) either part

2) each cne

3) every one

4} no improvernent

Correct ANSwer: no improvemeant

Candidata Answer: ne improvement

QID : 377 - Improve the bracketed part of the sertence.

Kanika shall be grateful to you if you (are of help) her now.
Options:

1) help

2) shall help

3) would help

4) no improvement

Correct Answer: help

Candidate &nswer: would help

QID ; 378 - Imprave the bracketed part of the sentence,

Shwieta unnecessarily {picked up) 2 quarrel with Kanishic and left the party huriedly.
Optigns:

1) picked on

2) picked

3) has picked up

4) no Improvement

Correct Answer: picked

Candidate Answer: has picked up

QID : 379 - Improve the bracketed part of the sentence.

Not a word (she spoke] to the unfortunate mother about it
Options:

1) did they speak

2) they vdll speak

3) they had spoken

4) no improverment

Correct Answer: did they speak

Candidate Answer: they had spoken

QID : 380 - Improve the bracketed part of the sentence.

Shrey has got many friends because he has got (much money).
Options:

1) 3 lot of money

Z) bags of monzy

3) enough money

4) ro improvement

Correct Anawer: a ot of money

Candidate Anawer: a lat of money
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QID : 381 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

A state of mental weariness from lack of occupation
Options:

1) hermit

2} enml

3) heretic

4) Indict

Corract ANSwWer: annui

Candidate Answer: [ NOT ANSWERED ]

QID : 382 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

A dabbler in the art and literature

Optons:

1) rapacious

2) bohemian

3) diletante

4) emeritus

Correct Answer: dilettante

Candidate Answer: [ NOT ANSWERED ]

QID : 383 - In the following question, out of the four alternatives, select the altemative which is best substitute of the phrase.

Eeing able to pay one's dabt
Options:

1) dilettante

2) credible

3) delible

4} sobvent

Correct Answer: solvent

Candidata Answer: [ NOT ANSWERED ]

QID : 384 - In the fullowing question, out of the four alternatives, select the albermative which is best substitube of the phrase.

One who is subject to failure or to committing mistakes
Options:

1) fallible

2) hyperbole

3) hermit

4} incorrigible

Correct Answer: fallible

Candidata Answer: incorrigible

QID : 385 - In the Mllowing question, out of the four alternatives, select the alternative which is best substitute of the phrase.

A short stay in a place

Optigns:

1) excursion

2) dotage

3 sojourn

4] knell

Correct Angwer: sojourn

Candidate Answer: [ NCT ANSWERED ]

QID : 388 - In the following question, four words are given out of which one ward is incorrectly spelt. Select the incarrectly spek word.
Options:

1) carnivorus

2) coutagenus

) compulsory

q) conceive

Comect Answer: carniverus

Candidate Answer: carnivorus

QID : 387 - In the following question, four words are given cut of which one word is incorrectly spelt. Sefect the incerrectly spek word,
Options:

1) spontanieity

2) acqualntance

3] appropriation

4) Iiquifiable

Cotract Answar: liquifiable

candidate Answer: [ NOT ANSWERED ]

QID : 388 - In the following question, four words are givin out of which one word is incorrectly spelt. Select the incorrectly spek word.
Optdons:
1) bercavement
2] palladium
3) loathsome
4) gysentry
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Correct Answer: dysentry
Candidata Answet: dysentry

QID : 389 - In the following quastion, four words are given out of which one word is incorrectly spelt. Sefoct the ingorrectly spek word,
Options:

1) apartheid

2) exhorbitant

3 mischievous

4) benefited

Correct Answer: exhorbitant

Candidate Answer: hanefitad

QID : 3840 - In the following question, four words are given out of which one word is incorrectly spelt. Sefect the incerrectly spelk word.
Optipns:

1) repercussion

2) obselesdng

3) sillnoutte

4) ludicrous

Correct Answer: sillhoutte

Candidate Answer: [ NOT ANSWERED ]

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the cotrect answer for the given
blank out of the four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and ; it has also given terrible instruments of .
Science has discovered and irvented many things to pain 3nd cure terrible diseases, These discoveries have snabled man to live a longer and life.

Science is both a blessing and a .
Options:

1) gift

2) curse

I compliment

4) source

Correct Answer: curse

Candidate Answer: curse

QIO : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four albternatives.

Science is both a blessing and a . While it has given us many things which have made life better and ; it has also given ternble instruments of .
Scietce has discovered and imwvented many things to ___ pain and cure terrible diseases. Thesa discoveries have enabled man to live a lenger and life.

many things which have made life better and ;
Optigna:

1) terrible

2) challenging

3] kappier

4) sophisticated

Correct Answer: happier

Candidate Answer: challenging

QID : 293 - In the following passage some of the words have been left out. Read the passage carefully and select the cotrect answer for the given
blank out of the four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and , it has also given terrible instruments of .
Scence has discoverad and iwentad many things to pain and cure terrible diseases. These discoveries have enabled man to live a longer and _____ life,

it has also given terrible instruments of .
Optigns:

1) destruction

2) happiness

3) convenienge

) rature

Correct Answer: destruction

Candidate Answer: destruction

QID : 394 - In the following passage some of the words have been left out. Rend the passage carefully and select the correct answer for the given
hlank out of the four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and ; it has also given terrible instruments of .
Science has discovered and invented many things to _____ pain an! cure terible diseases. Thesa discoveries have enabled man to live a lenger and life.

discovered and invented many things to pain and cure
Options:

1) aggravate

2) alleviate

3 nurture

4) intensity

Correct Answer: alleviate

Candidate Answer: nurture
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QID : 295 - In tha following passage some of the words hava been left out. Read tha passage carefully and select the corract answar for the given
blank out of the four alternativas.

Science is both a blessing and a __ . While it has given us many things which have made life better and . it has alse given terrible Instruments of .
Science has discovered and invented many things to pain and cure tarrible diseases. These discoveries have enabled man ¢ live a longer and _____ life.

enabled man to live a longer and life.
Optiona:

1) tedious

2) heatthier

3) productive

4) bigger

Cormrect Angwer: healthier

Candidate Answer: healthier

QID : 396 - A passage is given with five questions following it. Read the passage carefully and select the bast answer to each question out of the
given four alternatives.

Corruption is not a new phenorencn in India, [t has been prevalent in society since ancient times. History reveals that it was present even in the Maurvan period.
Great scholar, Kautilya, mentions the pressure of forty types of carruption in his conbemparary society. It was practised even in Mughal and Sultanate period. When
the East Indiza Campany ook contral of the country, corruption reached new height. Corruption in India has become so common thet pecple now are averse Lo
thinking of public kife with . Corruption kas been defined variously by scholars. But the simple meaning of it is that comuption implies perversion of merality,
integrity, character or duty out of mercenary motives, .. bribery, without any regard & honour, right and justice. In other words, undue faveur for any one far
somme monatary or other pains is corruption,

Simultanecusly, depriving the genuinely deserving from thair right or privilege is alsa a corrupt practice. Shrinking from one's duty or dereliction of duty are alsc
forms of corTuption. Besidec, thefts, wastage of public property constinnte varieties of corruption. Dishanesty, exploiation, malpractices, scams and scandals are
various manifestations of corruption.

According to the passage, corruption Is .

Optiona:

1) new phenomencn in India

2] insignificart to Indign society

3) prevalent sinoe ancient times

4) prevalent only in middle east countries

Correct Answer: prevalent since andent times

Candidate Answer: prevalent only in middle east countries

QID : 397 - A passage is given with five questions following it. Read the passage carefully and sciect the best answer to each question out of the
glven four alternatives.

Corruption is not a new phenomenen in India. Tt has been prevalent in society since ancient imes. History reveals that it was present even in the Mauryan period.
Great scholar, Kautilya, mentions the pressure of forty types of carruption in his oontemporary sodety. It was practised even in Mughal and Sultanate pericd. When
the East India Camparry took control of the country, corruption reached new height. Corruption in Tndia hias become so common that pecole now are averse to
thinking of public kfe with &. Corruption kas been defined variously by scholars. But the simple meaning of it is that comuption implies perversion of morality,
integrity, character or duty out of mercenary matives, i.e. bribery, without any regard te honour, right and justice. In ather words, undue favour for any one for
some menetary ar other geins is corruption.

Simultaneously, depriving the genuinely deserving from their right pr privilege is alsa a corrupt practice. Shrinking from one's duty or dereliction of duty are also
forms of corruption. Besides, thefts, wastage of public property constitute varieties of osrruption, Cishonesty, explokation, malpractices, scams and scandals are

manifestations of corrupti

Kautilya mentions the pressure of how many types of cerruption in his cantemporary sodety?
Options:

1320

230

340

43 50

Correct Answer: 40

Candidate Answer: 50

QID : 398 - A passage is given with five quastions following it. Read the passage carefully and solact tha bast answar to each question out of the
given four alternatives.

Corruption is not a new phenomenocn in Indid. It has been prevalent in society singe ancient times, History reveals that it was present even in the Mauryan period,
Great scholar, Kautilya, mentions the pressure of forty Types of corruption in his contemporary society. It was practised even in Mughal and Sultanate period. When
the East India Company took control of the country, corruption reached new height. Corruption in India has become so common that pecple now are averse to
thinking of public kfe with k. Corruption has been defined variously by scholars. But the simple meaning of it is that conuption implies perversion of morality,
integrity, character or duty out of mercenary motives, i.e. bribery, without any regard to honour, right and justice. In ather words, undue favour for any one for
some monetary or other gains is corruption,
Smultaneusly, depriving the genuinely deserving from their right or privilege is also a corrupt practice. Shrinking from one's duty or dereliction of duty are alsc
forms of corruption. Besides, thefts, wastage of public property constitute varieties of corruption. Dishanesty, explotation, malpractices, scams and scandals are

i Ll i ] L= (:If e i
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Perversion of what is not mentioned in the passage?

options:

1) character

2) attitude

3) morality

4) integrity

Correct Answer: attitude
Candidate Angwer: character
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QID : 299 - A passage is given with five questions following it. Read the passage carefully and select tha bast answer to aach question out of the
given four afternatives.

Corruption is not a new phenomencn in India. [t has been prevalent in society since ancient imes. History reveals that it was present even in the Mauryan peried.
Great scholar, Kautilya, menticns the pressure of forty types of carruption in his contemparary sodety. It was practised even in Mughal and Sultanate period. When
the East Indiz Comparty ook contrul of the country, corruption reached new height. Cerruption in India has become so common that pecple now are averse to
thinking of public kfe with it. Corruption kas been defined variously by scholars, But the simple meaning of it is that comuption implies perversion of morality,
inteqrity, character or duty out of marcenary motives, i.e. bribery, without ary regard to honour, right and justice, In ather words, undue favour for any one for
some monatary or other gains is cornuption.

Simultaneously, depriving the genuinety decerving from their right or privilege is alsa a corrupt practice. Shrinking from one's duty or dereliction of duty are als>
forms of corruption. Besides, thefts, wastage of public property constitute varieties of corruption. Dishanesty, explokation, malpractices, scams and scandals are

I ions of co i

p

According to the passage, what all are the manifestation of corruption?
Options:

1) malpractices

2) dishonesty

3) scams and scandals

4} Al of these

Correct Answer;: All of these

Candidate Answer: Al of these

QI : 400 - A passage is given with five questions following it. Read the passage carefully and select the hest answer to each question out of the
given four alternatives.

Corruption is not a new phenomencn in India. [t has been prevalent in society since ancient imes. History reveals that it was present even in the Mauryan pericd.
Great scholar, Kautilya, mentions the pressure of forty types of cornuption in his contemporary society, It was practised even in Mughal and Sultanate period. When
the East Irklia Company took control of the oountry, corruption reached new height. Corruption in India has become 5o commaon that pecple now are averse to
thinking of public kife with k. Corruption has been defined variously by schelars. But the simple meaning of it is that corruption implies perversion of morality,
integrity, character or duty aut of mercenary motives, i.e. bribery, without any regard to honour, right and justice. In other words, undue favour for any one far
some menetary ar ather gains is corruplion.
Simultaneously, depriving the genuinely deserving from their right or privilege is also a corrupt practice. Shiinking from one's duty or develiction of duty are alse
forms of corruption. Besides, thefts, wastage of public property constitute varieties of corruption. Dishonesty, explokation, malpractices, scams and scandals are

i manifestations af cr ki

Whiat people are aversa of due to corruption n India?
Options:

1) thinking of stardom

Z) thinking of public life

3} thinking of monetary gains

4) thinking of undue favours

Correct Answer: thinking of public life
Candidate Answer: thinking of undue Favours
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